
page：1/4

安装示意图/Assembly Instruction

产品名称 Model NO

五金表

编号 名称 图示 数量

A

B

C

D

1

2

3

部件表

编号
名称 数量 材质

 BY077-A
（computer chair） 产品规格 Specification

安装工具 No.of people required安装人数Tools required

LINSY林氏家居 NO NOName

Hardware list Parts List

Name QTYQTY MaterialDiagram

15mm六角十字扳手Wrench

20

1

1

5

图示
Diagram

6

6

带垫大扁头内六角Screw(M8X20）

十字沉头Screw（M5*10）

背软包

Back soft case  

座软包

Seat soft case

19托
Tray

1

1

1

黑色铁质
Black iron

尼龙
nylon 

1#白色尼龙赛车椅脚

Star base 

4
右扶手

Right armrest 1

左扶手

Left armrest

 钢+PP+聚氨酯

Steel+PP
+Polyurethane

80#白色_三级_包口_双缩1.5cm
80# white,level 3,two-way 
adjustable(1.5cm)

1

5孔黑白赛车轮
Wheels

7

8

1

1

1

1

1

1

9

10

11

12

右调角器
Right recliner 

左调角器
Left recliner 

右塑料盖
 right plastic cover 

右塑料盖

左塑料盖
 left plastic cover

左塑料盖
 left plastic cover

 right plastic cover 

公仔棉+铁架+海绵+PU 

dollcotton+iron frame
+Sponge+PU

层板+铁架+海绵+PU 

Plywood+iron frame+Sponge

+PU

Metal
金属

Metal
金属

PP
PP

PP
PP

PP
PP

PP
PP

 钢+PP+聚氨酯

Steel+PP
+Polyurethane

513
PP
PP

14
USB延长线
USB Extension line 1 PVC

PVC

670*730*1250-1325



page：2/4

产品名称 BY077-AModel NO

Assembly Instruction

STEP:1

将部件7(右调角器)用配件B(带垫大扁头内六角M8*20)固
定在部件2（座软包）
 Fix part 7 (right recliner) to part 2 (Seat soft 
case) with accessory B ( M8*20 screws)

STEP:2

如图所示,将部件1(背软包)放置坐垫上面
Place part 1 (Back soft case) on top of the cushion as 
shown 

STEP:3

如图所示,用配件B(带垫大扁头内六角M8*20)将部件7(右调角器)与靠
背固定
 Fix part 7(right recliner) to the backrest with fitting 
B(M8*20 screws) as shown in the figure 

7

B B 

2

1

7

B
B

B
B

B

8 B

STEP:4

用配件B(带垫大扁头内六角M8*20)将部件8(左调角器)固定在靠
背与坐垫上
 Fix part 8(left recliner) to backrest and cushion with 
fitting B(M8*20 screws) 



page：3/4

BY077-A产品名称 Model NO

Assembly Instruction

STEP:5

如图所示，用配件C(十字沉头
M5*10)将部件9,10(右侧塑料盖)
固定在座椅和靠背上
  Secure parts 9, 10 (right 
plastic cover) to backrest 
and cushion with spare part 
C (M5*10 screws) as shown  

STEP:8

将部件3(左扶手)和部件4(右扶
手)用配件B（带垫大扁头内六角
M8*20）固定在部件2（座软包） 
Fix part 3(left armrest) and 
part 4(right armrest) to part 
2 (seat soft bag) with 
fitting B (M8*20 screws)

STEP:6
如图所示，用配件C(十字沉头
M5*10)将部件11,12(左侧塑料

盖)固定在座椅和靠背上 
 Secure parts 11,12 
(left plastic cover) to 
backrest and cushion with 
spare part C (M5*10 
screws) as shown 

STEP:10

如图所示，将部件14(USB延长线)连
接，背座灯带线连接.

 Connect component 14 (USB 
extension cable)as shown.   
back seat lamp ribbon cable 
connection 

14

C
C

C C

9

10
C

12

11

C

2

6

B B

B B

34

2

B B B

STEP:7
将部件6（托盘）用配件B（带
垫大扁头内六角M8*20）固定
在部件2（座软包） 
Fix part 6 (tray) to part 
2 (Seat soft case) with 
accessory B ( M8*20 
screws)

STEP:9
把部件13(轮子)分别装入部件5(五星
脚)的五个脚孔,将五金D（三级气
杆）装入椅脚的中心孔,气杆的顶端
对准托盘的孔位对接固定
Install component 13(wheels) 
into the five foot holes of 
component 5(five-star feet) 
respectively, install hardware D 
(three-level air rod) into the 
center hole of chair feet, and 
align the top end of air rod 
with the hole position of tray 
for butt joint fixation. 

13 1313
13

13

D
5

B 

B B B B 



page：4/4

产品名称 BY077-AModel NO

Assembly Instruction

STEP:11
安装完成
The installation is complete.


	空白页面
	
	空白页面

	
	空白页面
	
	空白页面





